'Lobt Gott, thr Christen allzugleich' BWV 375
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Tou should not tie notes
like this - chords should
always mowve with the

Tou wrongly label this as
a IVé chord, when in fact it
15 chord VIIb i the tomic. The

The same problem twice here:

These cannot be the correct chords in this key

!

Parallel fifths| Femove the
(mcorrect) passing note
i the bass.

because they are dissonant with the melody note.

thythm of the melody WII-V progression that results
15 not the best way of harmomising
this. |This should be a Gz if it iz a passing note. |
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The bass should have the
same rhythm as the melody here, as
all the woices must sing all the words
Zwmgt die Saitern m Cythera (from BWV 36)
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This su.f;pensionlis I;gfd Here wou sirply swap the alto and bass parts
i7 ?a?l??rfa Ea?er:li(ge}ant over the second time. Better to harmorase it differently
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[Paralle] octaves (L&B)|
1
22, [Crossing parts (T&E) [Farallel fourths (AZT) | -
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This passing note Should be two crotchets,
sounds better as a G otherwise a strange dissonance results




